
 רונו'גכל הזכויות שמורות למזי 

 מספרים עשרוניים

 -+/השלימו את הפעולה הנכונה 

 0.5_________0.4= 0.9.    א .

 0.4_________0.4=0.8.     ב

 1.5_________0.4=1.9.     ג

 1.5_______0.05=1.45 .    ד

 3.5_________2.4=5.9.     ה

  0.5_________0.6=1.1.     ו

 1.5_________0.1=1.6.     ז

 

 

 

 רונו'גכל הזכויות שמורות למזי 

 מספרים עשרוניים

 -+/השלימו את הפעולה הנכונה 

 8.9_________0.4= 8.5.    א .

 0.4_______0.01=0.39.     ב

 4.2________0.06=4.14.     ג

 3.5_______1.1=4.6 .    ד

 6.2_________2.4=8.6.     ה

   00.5_________0.02=0.03.     ו

 1.05_________2.1=3.15.     ז

 

 

 



 רונו'גכל הזכויות שמורות למזי 

 מספרים עשרוניים

 -+/השלימו את הפעולה הנכונה 

 0.2_________0.9= 1.1.    א .

 0.04_________6.1=7.24.     ב

 1.05_________1=0.05.     ג

 2.5_______0.01=2.51 .    ד

 3.15________2.1=5.25.     ה

  5. 0_________6. 0=11.     ו

 6.25_________0.123=6.373.     ז

 

 

 

 רונו'גכל הזכויות שמורות למזי 

 מספרים עשרוניים

 -+/השלימו את הפעולה הנכונה 

 5.1_________0.06= 5.04א      .

 0.114_______0.65=  0.764ב      

 24.2________0.02=24.18  ג     

 3.50_______3=0.5 .    ד

 2.2_________2.2= 4.4.    ה

   01.5_________0.32=0.47.     ו

 0.05_________2.4=2.45.     ז

 

 

 


